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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. A point is on the X-axis. What are its y

coordinate and z coordinates ?

o Watch Video Solution

2. A point is in the XZ-plane. What can you say

about its y coordinate ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Jdty1Wdx4itl
https://dl.doubtnut.com/l/_XWDFwWlFqkPW

3. Name the octants in which the following
points lie :
(1’ 2’ 3)’ (4’ -2, 3)’ (4’ -2’ -5)’ (4’ 2’ _5), (-4’ 2’ _5), (-4’

2’ 5)’ (-3’ -1’ 6)’ (2’ -4’ -7)

° Watch Video Solution

4. The X-axis and Y-axis taken together

determine a plane known as

o Watch Video Solution



https://dl.doubtnut.com/l/_ORRcUnxEheHD
https://dl.doubtnut.com/l/_v078HxNmSmA6
https://dl.doubtnut.com/l/_9A6nsbMZu1UJ

5. The coordinates of points in the XY-plane

are of the form

o Watch Video Solution

6. Coordinate planes divide the space into

octants.

o Watch Video Solution



https://dl.doubtnut.com/l/_9A6nsbMZu1UJ
https://dl.doubtnut.com/l/_uPRhHnBK4kpJ
https://dl.doubtnut.com/l/_uO7G9lD5EY02

1. Find distance between following pair of
points :

(2,3,5)and (4, 3,1)

° Watch Video Solution

2. Find distance between following pair of
points :

(-3,7,2) and (2, 4,-1)

° Watch Video Solution



https://dl.doubtnut.com/l/_uO7G9lD5EY02
https://dl.doubtnut.com/l/_PvTTURuddJ1P

3. Find distance between following pair of
points :

(-1,3,-4) and (1, -3, 4)

o Watch Video Solution

4. Find distance between following pair of
points :

(2,-1,3) and (-2, 1, 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_jYRFRqiB618R
https://dl.doubtnut.com/l/_YybatH5t4YUF
https://dl.doubtnut.com/l/_n2gvo7CWJUZY

5. Show that the points P(-2, 3, 5), Q(1, 2, 3) and

R(7, 0, -1) are collinear.

o Watch Video Solution

6. Verify the following :
(0, 7, -10), (1, 6, -6) and (4, 9, -6) are the vertices

of an isosceles triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_n2gvo7CWJUZY
https://dl.doubtnut.com/l/_4TlgQhhVqSjW

7. Verify the following :
(0, 7, 10), (-1, 6, 6) and (-4, 9, 6) are the vertices

of aright angled triangle.

o Watch Video Solution

8. Verify the following :
(-1, 2, 1), (1, -2, 5), (4, -7, 8) and (2, -3, 4) are the

vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_jmZMiGtRa8as
https://dl.doubtnut.com/l/_fkMBt15hYIxD
https://dl.doubtnut.com/l/_DWhP46HcVIyj

9. Find the equation of the set of points which
are equidistant from the points (1, 2, 3) and (3,

2,-1).

o Watch Video Solution

10. Find the equation of the set of points P the
sum of whose distances from A(4,0,0) and

(-4,0,0) is equal to 10

o Watch Video Solution



https://dl.doubtnut.com/l/_DWhP46HcVIyj
https://dl.doubtnut.com/l/_q8LoU1T2rDsW

1. Find the coordinates of the point which
divides the line segment joining the points (-2,
3,5) and (1, -4, 6) in the ratio (i) 2 : 3 internally,

(1) 2 : 3 externally.

o Watch Video Solution

2. Given that P(3, 2, -4), O(5, 4, -6) and R(9, 8,
-10) are collinear. Find the ratio in which Q

divides PR.


https://dl.doubtnut.com/l/_MQfHKdNNlxfg
https://dl.doubtnut.com/l/_693wJjdW5wlP

° Watch Video Solution

3. Find the ratio in which the YZ-plane divides
the line segment formed by joining the points

(-2,4,7) and (3, -5, 8).

° Watch Video Solution

4. Using section formula, show that the points

1
A2, -3, 4), B(-1, 2, 1) and 0(0,5,2) are

collinear.



https://dl.doubtnut.com/l/_693wJjdW5wlP
https://dl.doubtnut.com/l/_84olmHikH9ZO
https://dl.doubtnut.com/l/_XTrUjmjG8RQG

I D Watch Video Solution

5. Find the coordinates of the points which
trisect the line segment joining the points P(4,

2,-6) and Q(10, -16, 6).

O Watch Video Solution

Miscellaneous Exercise 12


https://dl.doubtnut.com/l/_XTrUjmjG8RQG
https://dl.doubtnut.com/l/_rU4WBJDsxmAm

1. Three vertices of a parallelogram ABCD are
A(3, -1, 2), B(1, 2, -4) and C(-1, 1, 2). Find the

coordinates of the fourth vertex.

o Watch Video Solution

2. Find the lengths of the medians of the
triangle with vertices A(O, O, 6), B(O, 4, 0) and

(6,0, 0).

o Watch Video Solution



https://dl.doubtnut.com/l/_ayma9oDr77AD
https://dl.doubtnut.com/l/_4po4VsKHnMky
https://dl.doubtnut.com/l/_QnFUBF9B6Q81

3. If the origin is the centroid of the triangle
POR with vertices P(2a, 2, 6), O(-4, 3b, -10) and

R(8, 14, 2¢), then find the values of a, b and c.

o Watch Video Solution

4. Find the co-ordinates of a point on Y-axis
which are at a distance of 51/2 from the point

P(3, -2, 5).

o Watch Video Solution



https://dl.doubtnut.com/l/_QnFUBF9B6Q81
https://dl.doubtnut.com/l/_ro6ZE6OHzEth
https://dl.doubtnut.com/l/_IwhE3J4pKyD9

5. A point R with x-coordinate 4 lies on the line
segment joining the points P(2, -3, 4) and Q(8,

0, 10). Find the coordinates of the point R.

o Watch Video Solution

6.If A and B be the points (3, 4, 5) and (-1, 3, -7)
respectively, find the equation of the set of
points P such that PA? + PB? = k?, where k

iIs a constant.

o Watch Video Solution



https://dl.doubtnut.com/l/_IwhE3J4pKyD9
https://dl.doubtnut.com/l/_rD5atQ9xaTBA

Textbook Based Mcqs

1. In ratio YZ plane divides line segment

joining points (2, 4, 5) and (3, 5, -9).

A2:3

B.3:2

C.—2:3

D.4: — 3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aNqW0u035YTO

2.1n ratio XY plane divides line segment

joining points (a, b, ¢) and (-a, -¢, -b).

Aa:b

B.b:c

D.c:b

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aNqW0u035YTO
https://dl.doubtnut.com/l/_ntVEQbDPU2gq

3. If P(O, 1, 2), O(4, -2, 1) and O(0, O, O) are

distinct points the mZPOQ = :

& >
N[ w3y ] ol

0

o

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oJoQUwx1UWvh
https://dl.doubtnut.com/l/_OqmbeP8RF2AS

4. End points of the diagonal of square are (1,

-2,3) and (2, -3, 5). Then lengh of its side is

A/
B. /3
c. /5
D. /7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OqmbeP8RF2AS

5. Points
(5, — 4, 2), (4, — 3, 1), (7, 0, 4) and (8, 7, 5)

represents in plane.

A. Rectangle
B. Square
C. Parallelogram

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gupECuV7pmkz

6. In R> plane equation z? —5z+6=0

represents

A. Points
B. Planes
C. Curves

D. Family of lines

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3DPZfqOpxSmY
https://dl.doubtnut.com/l/_KTmLpu6wG1zr

7.Radius of the sphere is if its end points

of diameter are (3, 4, -1) and (-1, 2, 3).

A2

B.3

C.6

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KTmLpu6wG1zr

8.1n ratio XOZ plane divides line segment

joining (2, 3,1) and (6, 7, 1).

A3:7

B.2:7

C.—3:7

D.—2:7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QBm4s385dmA8
https://dl.doubtnut.com/l/_kO7S5teRkK1d

9. Centroid of the triangle with verticies P(1, -2,

1), Q(2, 3,-1) and R(1,-1,-1) is

A (1,2,1)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kO7S5teRkK1d

10. The centroid of the triangle with verticies

A(1,1,1),B(2,1,2) and C(x, y, z) is O(0, O, 0) then

B. (0, 0, 0)

C.(-3,-2,-3)

D.(1,-1,1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZD9sPRVknMpe

Textbook lllustrations For Practice Work

1.In Figure, if P is (2, 4, 5), find the coordinates

of F.

° Watch Video Solution



https://dl.doubtnut.com/l/_beNEHM9BhvTq
https://dl.doubtnut.com/l/_x80YMwzPYOhM

2. Find the octant in which the point (-3, 1, 2)

and (-3, 1, -2) lie.

o Watch Video Solution

3.Find the distance between the points P(1, -3,

4) and Q(-4,1, 2).

° Watch Video Solution

4. Show that the points P(-2, 3, 5), Q(1, 2, 3) and

R(7, O, -1) are collinear.


https://dl.doubtnut.com/l/_x80YMwzPYOhM
https://dl.doubtnut.com/l/_wZqNy91Z2iaX
https://dl.doubtnut.com/l/_J3VRdioFfq1E

° Watch Video Solution

5. Are the points A(3, 6, 9), Q(10, 20, 30) and
C(25, -41, 5), the vertices of a right angled

triangle ?

° Watch Video Solution

6. Find the equation of set of points P such

that PA? + PB? = 2k?, where A and B are


https://dl.doubtnut.com/l/_J3VRdioFfq1E
https://dl.doubtnut.com/l/_ZpHjuGUL8yqJ
https://dl.doubtnut.com/l/_qDItfTdMjcrE

the points (3,4,5) and ( — 1,3, — 7),

respectively.

° Watch Video Solution

7. Find the coordinates of the point which
divides the line segment joining the points (1,
-2,3) and (3, 4, -5) in the ratio 2 : 3 (i) internally,

and (ii) externally.

o Watch Video Solution



https://dl.doubtnut.com/l/_qDItfTdMjcrE
https://dl.doubtnut.com/l/_KsjikfkWRvXQ

8. Using section formula, prove that the three
points (-4, 6, 10), (2, 4, 6) and (14, O, -2) are

collinear.

o Watch Video Solution

9. Find the coordinates of the centroid of the

triangle whose vertices are

(wla Y1, zl)) (332, Y2, 22) and (.’133, Y3, 23)'

o Watch Video Solution



https://dl.doubtnut.com/l/_V0p5qaX0Ql96
https://dl.doubtnut.com/l/_8HNKqKB3WdVU
https://dl.doubtnut.com/l/_pEEOKftAbK6g

10. Find the ratio in which the line segment
joining the points (4, 8, 10) and (6, 10, -8) is

divided by the YZ-plane.

o Watch Video Solution

1. Show that the points A(1,2,3) ,B(-1,-2,-1)
,C(2,3,2) and D(4,7,6) are the vertices of a

parallelogram ABCD but it is not a rectangle

o Watch Video Solution



https://dl.doubtnut.com/l/_pEEOKftAbK6g
https://dl.doubtnut.com/l/_B4y2Sq3u8Hmp
https://dl.doubtnut.com/l/_VSOv3JKma9yC

12. Find the equation of the set of the points P
such that its distance from the points A(3, 4,

-5) and B(-2, 1, 4) are equal.

o Watch Video Solution

13. The centroid of a triangle ABC is at the
point (1, 1, 1). If the coordinates of A and B are
(3, -5, 7) and (-1, 7, -6), respectively, find the

coordinates of the point C.

° Watch Video Solution



https://dl.doubtnut.com/l/_VSOv3JKma9yC
https://dl.doubtnut.com/l/_M9ZdvVusoiO8

Solution Of Ncert Exemplar Problems Short

Answer Type Questions

1. Locate the following points :
(1) (1,-1,3)

(i) (-1, 2, 4)

(ii) (-2,-4,-7)

(iv) (-4, 2,-5)

o Watch Video Solution



https://dl.doubtnut.com/l/_I8N3rz8mHYkh

2. Name the octant in which each of the
following points lies.

() (1,2,3)

(ii) (4, -2, 3)

(iii) (4, -2, -5)

(iv) (4, 2, -5)

(v) (-4,2,5)

(vi) (-3, -1, 6)

(vii) (2, -4, 7)

(viii) (-4, 2, -5)

o Watch Video Solution



https://dl.doubtnut.com/l/_93SSHIFnAZpJ

3. Let A, B, C be the feet of perpendiculars from
a point P on the X, Y, Z - axis respectively. Find
the coordinates of A, B and C in each of the
following where the point P is :

(i) P(3, 4, 2)

(i) P(-5, 3, 7)

(i) P(4, -3, -5)

o Watch Video Solution



https://dl.doubtnut.com/l/_Z9bbfzP4eekH

4. Let A B, C be the feet of perpendiculars
from a point P on the X, Y, Z - axis respectively.
Find the coordinates of A, B and C in each of
the following where the point Pis :

(i) P(3, 4, 2)

(i) P(-5, 3, 7)

(i) P(4, -3, -5)

o Watch Video Solution



https://dl.doubtnut.com/l/_h4437ziqk8Br

5. How far apart are the points (2, 0, 0) and (-3,

0,0)?

o Watch Video Solution

6. Find the distance from the origin to A(6, 6,

7).

o Watch Video Solution



https://dl.doubtnut.com/l/_xU95cWYtVhHS
https://dl.doubtnut.com/l/_YQrOtnPo5QXz

7. Show that if z? + y* = 1, then the point

(:1:, 1, \/1 —z? - y2) is at a distance 1 unit

from the origin.

° Watch Video Solution

8.Show that the point A(1, -1, 3), B(2, -4, 5) and

C(5,-13, 11) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_UxFvtk5fJdcX
https://dl.doubtnut.com/l/_NhXgM5918MEf

9. Three consecutive vertices of a
parallelogram ABCD are A(6, -2, 4), B(2, 4, -8),
C(-2, 2, 4).

Find the coordinates of the fourth vertex.

° Watch Video Solution

10. Show that the triangle ABC with vertices
A(O, 4, 1), B(2, 3, -1) and C(4, 5, 0) is right

angled.

° Watch Video Solution



https://dl.doubtnut.com/l/_xB2JhhfDfpAk
https://dl.doubtnut.com/l/_CxhhPMfFUH71

11. Find the centroid of the triangle whose

vertices are (3, -5), (-7, 4) and (10, -2).

o Watch Video Solution

12. Find the centroid of a triangle, the mid-
point of whose sides are D(1, 2, -3), E(3, O, 1)

and F(-1, 1, -4).

o Watch Video Solution



https://dl.doubtnut.com/l/_CxhhPMfFUH71
https://dl.doubtnut.com/l/_TLa1DEN6dFjx
https://dl.doubtnut.com/l/_owrdoQfl2jBw
https://dl.doubtnut.com/l/_M4tfT3rI1Wvz

13. The mid-points of the sides of a triangle are

(5,7,11), (0, 8, 5) and (2, 3, -1). Find its vertices.

° Watch Video Solution

14. Three consecutive vertices of a
parallelogram ABCD are A(6, -2, 4), B(2, 4, -8),
C(-2, 2, 4).

Find the coordinates of the fourth vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_M4tfT3rI1Wvz
https://dl.doubtnut.com/l/_8ieP6QAOuZHj

15. Find the coordinate of the points which
trisect the line segment joining the points A(2,

1,-3) and B(5, -8, 3).

o Watch Video Solution

16. If the origin is the centroid of a triangle
ABC having vertices A(a, 1, 3), B(-2, b, -5) and

C(4, 7, c), Find the values of a, b, c.

o Watch Video Solution



https://dl.doubtnut.com/l/_o5OPQKoH97C3
https://dl.doubtnut.com/l/_LWDAZudpDnob
https://dl.doubtnut.com/l/_4o4rc3Vg80oP

17. If A(2, 2, -3), B(5, 6, 9) and C(2, 7, 9) be the
vertices of a triangle. The internal bisector of
the angle A meets BC at the point D. Find the

coordinates of D.

o Watch Video Solution

Solution Of Ncert Exemplar Problems Long

Answer Type Questions

1. Show that the three points A(2, 3, 4), B(-1, 2,

-3) and C(-4, 1, -10) are collinear and find the


https://dl.doubtnut.com/l/_4o4rc3Vg80oP
https://dl.doubtnut.com/l/_4eSjKeULEU8l

ratio in which C divides AB.

o Watch Video Solution

2. The mid-point of the sides of a triangle are
(1, 5,-1), (0, 4, -2) and (2, 3, 4). Find its vertices.

Also find the centriod of the triangle.

o Watch Video Solution

3. Prove that the points (0O, -1, -7), (2, 1, -9) and

(6, 5, -13) are collinear. Find the ratio in which


https://dl.doubtnut.com/l/_4eSjKeULEU8l
https://dl.doubtnut.com/l/_T6VxHzkgqRi1
https://dl.doubtnut.com/l/_mga0RTj6u5ic

the first point divides the join of the other

two.

° Watch Video Solution

4. What are the coordinates of the vertices of
a cube whose edge is 2 units, one of whose
vertices coincides with the origin and the
three edges passing through the origin,
coincides with the positive direction of the

axes through the origin ?

° Watch Video Solution



https://dl.doubtnut.com/l/_mga0RTj6u5ic
https://dl.doubtnut.com/l/_lvJx3QqmvMr6

Solution Of Ncert Exemplar Problems Objective

Type Questions

1. The distance of point P(3, 4, 5) from the YzZ-

plane is

A. 3 unit

B. 4 unit

C.5 unit

D. 5.50 unit


https://dl.doubtnut.com/l/_lvJx3QqmvMr6
https://dl.doubtnut.com/l/_5Xd9juKnLvEL

Answer: A

o Watch Video Solution

2. What is the length of foot of perpendicular

drawn from the point P(3, 4, 5) on Y-axis ?

A /41
B. /34

C.5

D. None of these


https://dl.doubtnut.com/l/_5Xd9juKnLvEL
https://dl.doubtnut.com/l/_DGUrNMWuYuWk

Answer: B

o Watch Video Solution

3. Distance of the point (3, 4, 5) from the origin
(0,0, 0) is

A. /50

B.3

C.4

D.5


https://dl.doubtnut.com/l/_DGUrNMWuYuWk
https://dl.doubtnut.com/l/_FaBhPfpAlmON

Answer: A

o Watch Video Solution

4. If the distance between the points (a, O, 1)

and (0, 1,2) is 4/27, then the value of ais
A5

B.+5

C.%+3

D. None of these


https://dl.doubtnut.com/l/_FaBhPfpAlmON
https://dl.doubtnut.com/l/_HHemGUCtrizJ

Answer: B

o Watch Video Solution

5. X-axis is the intersection of two planes

A. XY and XZ

B. YZ and ZX

C.XYand YZ

D. None of these

Answer: A


https://dl.doubtnut.com/l/_HHemGUCtrizJ
https://dl.doubtnut.com/l/_nAVxt6coXHnQ

° Watch Video Solution

6. Equation of Y-axis is considered as

A.x=0andy=0

B.y=0andz=0

C.x=0andz=0

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nAVxt6coXHnQ
https://dl.doubtnut.com/l/_4biHja4sTk4r

7.The point (-2, -3, -4) lies in the

A. First octant

B. Seventh octant

C. Second octant

D. Eighth octant

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4biHja4sTk4r
https://dl.doubtnut.com/l/_BC5J1JtSBL0Q

8. A plane is parallel to Yz-plane so it is

perpendicular to

A. X-axis

B. Y-axis

C. Z-axis

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QmQdRlKUUa2s
https://dl.doubtnut.com/l/_9CE6JhU0J52Z

9. The locus of a point for whichy=0,z=0is

A. Equation of X-axis

B. Equation of Y-axis

C. Equation at Z-axis

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9CE6JhU0J52Z

10. The locus of a point for which x=0is

A. XY-plane

B. YZ-plane

C.ZX-plane

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YT3tNfBgYCH7

1. If a parallelopiped is formed by planes
drawn through the points (5, 8, 10) and (3, 6, 8)
parallel to the coordinate planes, then the

length of diagonal of the parallelopiped is

A.2./3

Answer: A


https://dl.doubtnut.com/l/_pERRhCWGtyu5

° Watch Video Solution

12. L is the foot of the perpendicular drawn
from a point P(3, 4, 5) on the XY-plane. The

coordinates of point L are

A.(3,0,0)

B. (0, 4, 5)

C.(3,0,5)

D. None of these

Answer: D


https://dl.doubtnut.com/l/_pERRhCWGtyu5
https://dl.doubtnut.com/l/_6HubIPdUDMJ0

° Watch Video Solution

13. L is the foot of the perpendicular drawn
from a point (3, 4, 5) on X-axis. The coordinates

of L are

A.(3,0,0)

B. (0, 4, 0)

C.(0,0,5)

D. None of these

Answer: A


https://dl.doubtnut.com/l/_6HubIPdUDMJ0
https://dl.doubtnut.com/l/_6VcZDcUCTgKY

° Watch Video Solution

Solution Of Ncert Exemplar Problems Fillers

1.The th DR determi
. The three axes 0X.0Y.0Z etermine

° Watch Video Solution

2. The three planes determine a rectangular

parallelopiped which has of rectangular


https://dl.doubtnut.com/l/_6VcZDcUCTgKY
https://dl.doubtnut.com/l/_NDFbSV51y3G2
https://dl.doubtnut.com/l/_SCNSBqwHTpVQ

faces.

o Watch Video Solution

3. The coordinates of a point are the

perpendicular distance from the on the

respectives axes.

o Watch Video Solution

4. The three coordinate planes divide the

space into __ parts.


https://dl.doubtnut.com/l/_SCNSBqwHTpVQ
https://dl.doubtnut.com/l/_1Vp0ePTCXtUW
https://dl.doubtnut.com/l/_mUnfdOpB98kV

° Watch Video Solution

5. If a point P lies in YZ - plane, then the
coordinates of a point on YZ-plane is of the

form

° Watch Video Solution

6. The equation of YZ-plane is

° Watch Video Solution



https://dl.doubtnut.com/l/_mUnfdOpB98kV
https://dl.doubtnut.com/l/_ALqcGnkk7Syu
https://dl.doubtnut.com/l/_0sjnm3nj0ZjH
https://dl.doubtnut.com/l/_ughOcyFFb3vw

7.1f the point P lies on Z-axis, then coordinates

of P are of the form

o Watch Video Solution

8. The equation of Z-axis, are

o Watch Video Solution

9.A line is parallel to XY-plane if all the points

on the line have equal

| e |


https://dl.doubtnut.com/l/_ughOcyFFb3vw
https://dl.doubtnut.com/l/_rjikYrKT94W5
https://dl.doubtnut.com/l/_OYx5poRjJkbS

& Wwatch Video Solution ]

10. A line is parallel to X-axis if all the points on

the line have equal

o Watch Video Solution

11. x = a represent a plane parallel to

o Watch Video Solution



https://dl.doubtnut.com/l/_OYx5poRjJkbS
https://dl.doubtnut.com/l/_h3An6E4lLFoY
https://dl.doubtnut.com/l/_abHxY8XMySzC

12. The plane parallel to YZ-plane is

perpendicular to

° Watch Video Solution

13. The length of the longest piece of a string
that can be stretched straight in a rectangular

room whose dimensions are 10, 13 and 8 units

o Watch Video Solution



https://dl.doubtnut.com/l/_SWf5PdTg1tYO
https://dl.doubtnut.com/l/_sK691PI5z1iC
https://dl.doubtnut.com/l/_gLT2bAwIV4yG

14. If the distance between the points (a, 2, 1)

and (1,-1,1) is 5,then a _

° Watch Video Solution

15. If the mid-points of the sides of a triangle
AB, BC, CA are D(1, 2, -3), E(3, 0, 1) and F(-1, 1, -4),

then the centriod of the triangle ABC is

° Watch Video Solution



https://dl.doubtnut.com/l/_gLT2bAwIV4yG
https://dl.doubtnut.com/l/_nRR25tBiHZzs

16. Match each item given under the column - |

to its correct answer given under Column-Il.

Column - | Column - I1
':-l-lu T xy -plane (a) | First octamt
() | Point (2, 3, 4) lies in the (b) | YZ -plane
(it} | Locus of the poinis having x coordinate 0 s (€) | z coordinate is zero
fivi | A line is parallel to X -axis if and only ) | Z -axis
(vi [If x=0,y=0taken together will represent the (e} | plane parallel o XY -plane
{vl] |z = ¢ represent the plane (f) | if all the poinis on the line have
equal y and z coordinates.
(vil) | Mlanes x = @, ¥ = b represent the line ® | from the point on the respective
(viii) | Coordinates of a point are the distances from the
origin to the feet of perpendiculars (h} | parallel 10 Z -axis.
(ix) | A ball is the solid region in the space enclosed by a | (1) | disc
(x) | Reglon in the plane enclosed by a circle s known asa | () | sphere

o Watch Video Solution

Practice Work



https://dl.doubtnut.com/l/_Z5divDihlkX2

1. Points (-3, 1, 2), (3, -1, 2) and (-3, 1, -2) are in

which octants ?

° Watch Video Solution

2. A, B and C are foot of perpendicular from
point P(-5, 3, 7) on XY, YZ, ZX planes. Then write

coordinates of the point A, B and C.

° Watch Video Solution



https://dl.doubtnut.com/l/_IPsPrcVUu8uy
https://dl.doubtnut.com/l/_ZbOsz8LWQGET

3. Give the coordinate of point A, B and C if it
denotes the perpendiculars from point P (3, 4,

5)on X,Y and Z.

o Watch Video Solution

4. A variable plane makes with the co-
ordinates plane, tetrahedron of contant
volume 64k* Then the locus of the centroid of

tetrahedron is the surface.

° Watch Video Solution



https://dl.doubtnut.com/l/_4higtIGAtLUD
https://dl.doubtnut.com/l/_UW6rcl3kUDBf

5. If the distance between the points (x, -8, 4)

and (3, -5, 4) is 5 unit find x.

o Watch Video Solution

6. Find the equation of the set of the points P
such that its distance from the points A(3, 4,

-5) and B(-2, 1, 4) are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_UW6rcl3kUDBf
https://dl.doubtnut.com/l/_dxTlh2qHlZmd
https://dl.doubtnut.com/l/_9Ouhj4osqiOF
https://dl.doubtnut.com/l/_ztDLz1RrHLqp

7.Find point on Y-axis which is of the distance

/10 from point (1, 2, 3).

° Watch Video Solution

8. Find distance of the point (3, 4, 5) from Y-

axis.

o Watch Video Solution

9. Find coordinates of the point which of the

equidistance from O(0, 0O, 0), A(l, O, 0), B(O, m,


https://dl.doubtnut.com/l/_ztDLz1RrHLqp
https://dl.doubtnut.com/l/_NvGSN6r6qS9C
https://dl.doubtnut.com/l/_XfOnF2x5LRul

0) and C(0O, O, n).

o Watch Video Solution

10. Find co-ordinates of the point which
divides line segment joining points (2, -1, 4)

and (4, 3, 2) in ratio 2 : 3 Internally.

o Watch Video Solution

11. Find co-ordinates of the point which divides

line segement joining points (2, -1, 4) and (4, 3,


https://dl.doubtnut.com/l/_XfOnF2x5LRul
https://dl.doubtnut.com/l/_JbvgXjhVnRDg
https://dl.doubtnut.com/l/_fbB5mI1vbhPy

2) in ratio 2 : 3.

Externally

° Watch Video Solution

12. In which ratio XY plane divides line

segment joining points (2, 4, -3) and (-3, 5, 4).

o Watch Video Solution

13. Show that the points P(-2, 3, 5), Q(1, 2, 3)

and R(7, 0, -1) are collinear.


https://dl.doubtnut.com/l/_fbB5mI1vbhPy
https://dl.doubtnut.com/l/_IWmPk3v4kYwM
https://dl.doubtnut.com/l/_XY9jl0tkL9rE

° Watch Video Solution

14. Find the centroid of a triangle, the mid-
point of whose sides are D(1, 2, -3), E(3, O, 1)

and F(-1, 1, -4).

° Watch Video Solution

15. A(3, 2, -4), B(9, 8, -10) and C(5, 4, -6) are given

points. In which ratio point C divides AB ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XY9jl0tkL9rE
https://dl.doubtnut.com/l/_4G0EyUWypXfk
https://dl.doubtnut.com/l/_CKhdaz1Wph5S

16. In which ratio the plane x +y + z = 5 divides
line segment joining points (2, -1, 3) and (-1, 2,

17

o Watch Video Solution

17. A(1, 2, 3), B(O, 4, 1) and C(-1, -1, -3) are
verticies of AABC. Find point on BC at

which bisector of /BAC intersects.

o Watch Video Solution



https://dl.doubtnut.com/l/_CKhdaz1Wph5S
https://dl.doubtnut.com/l/_krMJxnZRYcdS
https://dl.doubtnut.com/l/_eM70PVyrYUgd

18. Mid points of sides at AABC are (-2, 3, 5),
(4, -1, 7) and (6, 5, 3). Then find coordinates of

the verticies A, B and C.

o Watch Video Solution

Question Of Module Knowledge Test

1. Point P(O, 3, 5) and Q(1, 3, 0) are in which

planes ?

o Watch Video Solution



https://dl.doubtnut.com/l/_WuOuiu5DC32p
https://dl.doubtnut.com/l/_EHBdelPZkGIA

2. Following points lies in which octants ?

(-2,1,3),(—3, —4,0), (1, —2,3)

° Watch Video Solution

3. Find point of Z-axis of the distance /14

from point (-2, 1, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_EHBdelPZkGIA
https://dl.doubtnut.com/l/_qmGWS6Wf6A5S
https://dl.doubtnut.com/l/_vbD1FTHIVymY

4. Points (4, 7, 8), (2, 3, 4), (-1, -2, -1) and (1, 2, 3)

represents which quadrilateral ?

° Watch Video Solution

5. Find locus of the point which lies on X-axis
and at the equidistance from points A(2, 3, 4)

and B(-1, 5, 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_F1HXQP9j23BT
https://dl.doubtnut.com/l/_sjtwkgKuLyOx

6. Find distance from point P(2, -4, 5) to XZ

plane.

o Watch Video Solution

7. Obtain the coordinates of point which
devides AB joining points A(1, 2, 1) and B(2, 1,

-3) in ratio -1: 2 from A.

o Watch Video Solution



https://dl.doubtnut.com/l/_H2ei6v3wEwKP
https://dl.doubtnut.com/l/_efQ3WZ3dqt6d

8.In R* equation 2 +y? =0 represents

A. XY plane
B. X-axis
C. Y-axis

D. Z-axis

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KVsrUHiSS541

9.Find the point of Z-axis at the distance 2./3

from point P(3, -2, 5).

° Watch Video Solution

10. P is the point on line segment AB joining
A(3, 4, -5) and B(-2, 1, 4). If y co-ordinate of P is

2 then find z co-ordinate.

° Watch Video Solution



https://dl.doubtnut.com/l/_WF12qgcfDLyE
https://dl.doubtnut.com/l/_ZtTbjPaBQlLR

11. The point which divides AB joining A(-1, 3,
5) and B(k, 2, 5) in ratio 2 : 1is on line x = 2.

Find value of k.

o Watch Video Solution

12. A (1, -1, -3), B(2, 1, -2) and C(-5, 2, -6) are the
verticies of AABC. Find co-ordinates of point

D, if bisector of ZA intersects BC at point D.

o Watch Video Solution



https://dl.doubtnut.com/l/_7xDDDCcBl6py
https://dl.doubtnut.com/l/_Ye1CoterB4eT

